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f(x)=x+In(x) ; f(x)=x—In(x) ; f(x)=—x-2In(x) ; f(x)=x+1+In(x) ; f(x)=%+ln(x)

f(x)= xln( ) x)=xIn(x) ; f(x) ) lim *— In(z) ; f(x)=x—1n(x2+x—1)

i (x)

x+2

f)=xIn(x-1); f(x)=xIn(x); f(96)=(ln x) i f@)=3In(x) ; f(x) =42 ~In(x° +2x 1)
f@)=xIn(x+1)+1 ; f(x)=In(x?-3x+2) ; f(x)=In(1-x*) ; f(x)zln( ’Tﬁ)

x—1
x+1

f(x)zln(x2—3x+2) ;f(x)zln( ) ; f(x)=Inlx+4| ; f(x)=xIn(x+1) ; f(x)zéf;+ln(2x)

fx)=In*(x)+1; f(x)= J(Cx); f(x):%/;—%ln(l—x) ; f(x)=In(x)+4x ; f(x)=>5x—In(-2x)

n

1+In(x)

f(x)= ; f)=In2x)+x-2 ; f(x)=xIn(x+1) ; f(x)=%/;(x—ln(x)) ; f(x)=xIn(x)-x

x + In(x) 1+In(x)

f(x)=In —2x)—%; = . ; f(x)=2dx—2-In(x) ; f(x):x

" ;f(x)=1n(m)+x ; f(x)=x—%—ln—(x)
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Va,be0,+oo[ : In(ab)=In(a)+In(b) limxIn(x)=0"

x—0*"

va,be 0, +0[: ln( J:m( a)~In(b) lim In(x) = 40
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Va,b e |0,+o : ln(a ) rin(a)
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lim xln(g/;) ; hrgl xln(x) ; limM B=21n(e4)+1n(e\/2)—gln(eg)

o ;Wln(x) C =In(3) - In(5) + In(30) ~ In(15)
limx~In(x* +x-1) ; lim — In(x) D=In8)+In(¥/e)~In(16)

| 1 infx?+1) E=In(y3)~In(9) +In(6)

11mx1n(1+—) ; lim ﬁ .

X—>+0 X X—>-0 }f +4 F= lII(%/Z;) *‘22111.[j:7==] __III[:EE:)

lim\/;—(ln(x))2 ; lim n +ln(\/x—1) ¢
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Gzln( \/§+1 )+ln( \/_—1 )
_ In(xz—x+1) _ ln(1+\/§) ( ) ( | )
lim x ; lim () In@)=07 , IB)=11 : olelel -2
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In(2x+1)=In(4x+2) ; In(x)=In(2x+1) | - W e
ln(xz—x)—ln(3+x)=0 ; ln(x2—1)=ln(2x) b e—lo B midcseme -1
f(x)=xIn(x+1)+1 ; f(x)zln(x2—3x+2)

In?(x)-2In(x)+1=0 ; In(x)=1 ; In(x)=0
ln(x)=% ; In(3+x)=1; In(x-5)=3
2In(x+3)=2In(x) ; —In*(x)+2In(x)-1=0

In(x)+In(x+3)-2In(2)=0 ; ln[—

f(x)=1n(x+1)+1; f(x):ln(x—1)+%
X

FE)=In(1-2) ; f(x)zln(\/2+\/;)

Fx)=In(x*=3x+2) ; f(x)zln(x—lj
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f)=xIn(x+1)+1; f(x)=In|x+4
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In(x+2)<In(5x) ; In(x)>0 ; In(3x-1)<1 f(x)= (IZJ(FZ)) f(x)zlng(cx)

zln(x)<_1n(%] ; In(2x~6)~In(4+x)<0 4 Sl Jlgl s 32> -2

TG f(x)=In(2x+1); f(x)=-2x"-In(x)
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